

THE WYNYARD AGRICULTURAL AND PASTORAL SOCIETY INC

136th ANNUAL SHOW – 14th March 2026

SECTION C - DAIRY CATTLE

TROPHY FOR CHAMPION OF CHAMPIONS AND SOCIETY'S ROSETTE
SOCIETY'S CHAMPION RIBBON FOR BULL AND COW IN EACH BREED
SOCIETY'S RESERVE CHAMPION RIBBON FOR BULL AND COW IN EACH
BREED

ENTRY FEE: \$7.00 all Classes.

TO ENTER ALL CLASSES, VISIT THE SOCIETY'S WEBSITE
wynyardshow.org

JUDGING: Commences at 9.00am sharp.

PRIZES: 1st - \$12.00, 2nd - \$7.00 only paid if more than two in Class.

ENTRIES CLOSE: 07 February 2026.

CHIEF STEWARD: Neville Latimer 0408 142 378

NOTE: No exhibit is to be shown in more than one Class, except for
Special Classes or Groups.

GRAND PARADE: Exhibitors are requested to take part in the Grand
Parade in accordance with the Society's Rules.

BREED - DAIRY CATTLE

ILLAWARRA
HOLSTEIN FRESIAN

AYRSHIRE
JERSEY

GUERNSEY
BROWN SWISS

CLASS:

1. HEIFER born between 1 Jul 2023 and 30 Dec 2023
2. HEIFER born between 1 Jan 2023 and 30 Jun 2024
3. COW born between 1 Jul 2022 and 30 Jun 2023
4. COW born between 1 Jul 2020 and 30 Jun 2022
5. COW born prior to 1 Jul 2020
6. BEST UDDER AND ATTACHMENT
7. DRY HEIFER born between 1 Jul 2023 and 30 Jun 2024
8. DRY COW born prior to 1 Jul 2020

CHAMPION COW TO BE DRAWN FROM CLASSES 4, 5, 7 and 8.
1st Prize

INTERMEDIATE CHAMPION TO BE DRAWN FROM CLASSES 1, 2 AND 3.
1st Prize

9. HEIFER born between 1 Jul 2024 and 31 Dec 2024
10. HEIFER born between 1 Jan 2025 and 30 Jun 2025
11. HEIFER born between 1 Jul 2025 and 31 Dec 2025

JUNIOR CHAMPION HEIFER DRAWN FROM CLASSES 9, 10 & 11
1st Prize

12. GROUP – 1 Male, 2 Females
13. BULL born after 1 Jul 2023

JUNIOR CHAMPION BULL FROM CLASS 12

OTHER SPECIAL PRIZES: - HOLSTEIN FRESIAN

1. BEST UDDER AND ATTACHMENT – A. STUDLEY MEMORIAL 1st \$20.00, 2nd \$10.00
2. JUNIOR CHAMPION FEMALE (2 YEARS AND UNDER DRY) Prize donated by K & A Edwards

DAIRY CATTLE – INTERBREED

ENTRY FEE: \$7.00 – CLASSES 13 TO 18 Incl JUDGING: 11.00A.M.

CLASS:

14. CHAMPION COW born after 31 December 2022
1st \$100.00
2nd \$50.00
15. INTERMEDIATE CHAMPION born since 2023 in milk
1st \$50.00
2nd \$25.00

- | | | |
|-----|---|--|
| 16. | BEST UDDER & ATTACHMENT | 1 st \$70.00
2 nd \$30.00 |
| 17. | BEST PAIR FEMALES IN MILK | 1 st \$50.00
2 nd \$25.00 |
| 18. | CHAMPION CALF born since July 2025 | 1 st – SPONSORED HOLSTEIN TAS
2 nd – SPONSORED HOLSTEIN TAS |
| 19. | CHAMPION JUNIOR HEIFER born between 1 Jan 2025 and 30 TH Jun 2025 | 1 st \$50.00
2 nd \$25.00 |
| 20. | CHAMPION SENIOR HEIFER born between 1 Jul 2024 and 31 ST December 2024 | 1 st \$50.00
2 nd \$25.00 |
| 21. | BEST JUNIOR PAIR OF FEMALES born since 31 December 2024 | 1 st \$50.00
2 nd \$25.00 |

Best Maintained Stall & Team

JUVENILE CLASS - UNDER 16 YEARS OF AGE ON SHOW DAY

22. ATR ACCOUNTING CALF REARING COMPETITION. Entries may be pure breed or grade calves born 1st July 2024 onwards – actual age must be stated. Awards will be made primarily on general husbandry and stockmanship.

1st - \$30.00, 2nd - \$15.00, 3rd - \$15.00

JERSEY RISING STAR CLASS

1. Handler is to be under 18 years on the date of the show.
2. Calf is to be under 12 months on the date of the show.
3. Calf is not necessarily owned by the handler.
4. 1st place calf to be photographed within one month of the show date.
5. Competition will run for one year, each year starting July 1st through to June 30th the following year.
6. All Photographs are to be forwarded to Jersey Australia within 6months of the show date, or before August 1st, whichever occurs first.
7. A panel of 3 judges will judge the photographs.
8. Winner will be announced in the September/October Jersey Journal

DAIRY CATTLE HANDLERS

NOTE: THIS COMPETITION WILL BE JUDGED ON FRIDAY EVENING 13th March 2026 commencing at 6.30p.m. sharp.

CLASS: ENTRY FEE: \$7.00

- | | |
|---|--|
| 32. UNDER 8 YEARS – ANIMALS UNDER 2 YEARS. | 1 st \$20.00, 2 nd \$10.00 |
| 33. 9 YEARS TO 12 YEARS - ANIMALS UNDER 2 YEARS. | 1 st \$20.00, 2 nd \$10.00 |
| 34. 13 YEARS TO 14 YEARS – ANIMALS UNDER 2 YEARS. | 1 st \$20.00, 2 nd \$10.00 |
| 35. 15 YEARS TO 16 YEARS – ANIMALS UNDER 2 YEARS. | 1 st \$20.00, 2 nd \$10.00 |
| 36. 17 YEARS TO 25 YEARS – ANIMALS UNDER 2 YEARS. | 1 st \$20.00, 2 nd \$10.00 |

CHAMPION HANDLER AND RUNNER- UP DRAWN FROM CLASSES 30 TO 34 INCL

The Champion Handler is qualified to enter the State Final.

NLIS IDENTIFICATION: Exhibitors will have all cattle NLIS identified prior to animals entering the Showground.

SPECIAL NOTE: Exhibitors are recommended to have their Public Liability Insurance Policies endorsed to cover stock whilst being transported to and from the Showground and whilst within the boundaries of the Wynyard Showground.

NO PERSON MAY REMOVE AN EXHIBIT FROM THE SHOWGROUND BEFORE 3PM ON THE SATURDAY

ALL ELECTRICAL CORDS AND APPLIANCES MUST BE TESTED AND TAGGED.

JENNER STREET GATE WILL BE CLOSED FROM 8AM

SECRETARY: Jessica Bowers PO Box 303 WYNYARD TAS 7325
Email: wynyardshow@gmail.com Mobile 0477 365 016